AERON® REAR LIMIT CAM, TILT SECTOR GEAR &

CABLE REPLACEMENT

REAR LIMIT CAM,

TILT SECTOR GEAR &
CABLE

TOOLS NEEDED

/%f!;

RATCHET WRENCH W/
6MM HEX HEAD BIT

1T |
1" PUTTY KNIFE

=

‘,;ffﬁp’

RING RETAINER
TOOL

KNEEDLE NOSE PLIERS

&

#2 PHILLIPS
HEAD SCREWDRIVER

PARTS INCLUDED

OLD & NEW STYLE
SECTOR GEARS

Y o

H;g—-SPRING

E-RING

R

TILT LIMITER
CABLE

Uy

=

REAR LIMIT
CAM

PROCEDURE

-

NOTICE
Meien mrm tasterars arm torqusd o spacfied vl

T tension must be put sl The owest posiion i install fhis servics lem,

r&mrrm ]

Forwerd Bt must not bs in activaled posltion bedors (s servics

procedur begme

L

A\ cAUTION ]

ol e N o g B



TOP TILT
TILT CO?ERr\\\\

BOTTOM
TILT COVER

SEAT LINK (FIGURE SHOWN WITH SEAT
FRAME REMOVED)
FRONT
SHOULDER
SCREW

{OLDER VERSION)

BUSHINGS

SPACER fEﬂL (FIGURE SHOWN WITH SEAT
FRAME REMOVED)
FRONT MOUNT A\ caumon
Moiaics surs &l cables are routed hrough cable openings on B cover belor
T snapping B cover In place o product demege ooowr,
TO REMOVE:
1. While supporfing seat link, use MM socket, ratchet wrench fo TO REMOVE:
Idtauull=?;:h;Ihunu;:ltlﬂktﬂ:&aﬁﬁ::ﬂ;nlf 1. Apply front of bolim it fo start seperation of it
BCTEW. spacers and or . pressure on cover
applicable and set aside. Repeat for opposiie side. covers. insert 1° putty knife between fop and botiom covers and

and twist fo completaly separats tiit covers. Set top it cover
TO REINSTALL: aside.

1. Attach front mount of ssat ink to it with shoulder scrow. Tighten TO REINSTALL:

and torque to 120-150 in-bs.
1. Piace fop tit cover on it and align fo botiom fiit cover. Rouls
all cables through cable openings and snap covers logather.



TILT
SPACER

H{'

RIVET FLANGE

PLASTIC PIN ——BOTTOM

TILT
COVER

TO REMOVE:

1. Using neadle nose pllers, remove plastic pin from rivet flange
from under side of lower filt cover on left side and sel aside.
Using neadle nose pllers, remove rivot from it cover and
set aside. Lat botiom cover rest on base. chairs secune cover
with (2) phillipshead screws. Use #2 phillips head screwdriver fo
remove and set aside.

TO REINSTALL:

1. Slide bottom tilt cover up fo tiit. Make sure nolches in tilt spacer

grooves engage siots in tit cover. If necessary, rotats tilt spacers
o notches with siots. Align hole in tilt cover fo hole in it
rivet flange info titcover and tit. Insert rivet pin into rivet

flange.

i 5
\\\\\\\

HIP PIVOT
BUSHING

FLAT AREA
SWING AR

(FOR CHAIRS MANUFACTURED AFTER JUNE 4,2003)

(FOR CHAIRS MANUFACTURED AFTER MARCH 9 ,2004, GO ON
TOSTEPT)

10 REMOVE:

¥ S “m;l'um&mmmu hullhn!
am.
mmmniumml# phvot festener has
from seat frame, remove hip
for other side. Remove seat with and set aside,

TO REINSTALL:

1. Maks certain flat area around festeners head in hip pivot bushing is
fiat and aligned with bushing area. Repeat for other hip pivot

2. Lower seat In place.

fastener in seat frame o mounting hole
In swing arm and insert

pivot bushing.

3. Insert other hip pivot fastener Into swing arm aligning top and
bottom guides nto siots In swing arm opering.

4. Using GMM head bit and ratchet wrench,
fastener infto seat frame. Repeat for opposite

5. Secure fasteners of hip pivot bushing, hip pivot bushing
into ssat frame. Torque fasteners fo 180-200

thread hip pivot

SWING
ARM

HIP PIVOT
SCREW

THREADED
INSERT

(FOR CHAIRS MANUFACTURED BEFORE JUNE 4,2003)



TO REMOVE:

1. Using rafchet and 6MM hax bit, remove hip pivot screw from each
H*ﬂlMtﬁ:nz%:hﬂﬂUﬂ:::“#whﬂ!::fﬂﬂphh
threaded insert as much as possible. Using a ::EETﬂm
with raichet wrench. Back out hip pivot screw insert
If threaded Insert turns with hip pivot screw, repeat process.

SECTOR GEAR MOUNTING
POST/ MOUNTING HOLE

SECTOR GEAR (WITH
MOUNTING HOLE SHOWN)

: "\ CABLE
P ! A FITTING
A cauTION J ' o :

if thrmaced inserts turn whils ramoving hip pivot scrows from sest frame,
STOP MEDIATELY and follow Imsiruciions.

TO REINSTALL:

1. Place seal frame botween swing arms. Altach seat frame 1o
:1:.m.ﬂhhbﬂhﬂlﬂﬂhﬂﬁﬂnlﬂlﬂﬂlh1ﬂﬂﬂ]

TO REMOVE:

1. Tt imiter must be In released position (tilt limiter lever all the way
down.) small needie nose pllers, remove spring from secior
gear and down.

2 small head screwdriver, remove e-ring securing
rear imit cam and set aside. Remove rear limit cam and dispose of
property. Remaove secior gear, with cable attached from sector gear
post and let hang. If chair is manufactured afler 8-23-04, remove

secior gear from cable and dispose of properly, See figure in step 8.
TO REINSTALL:

1. Side secior gear and attached filt Bmiter cable onio secior gear
post/sacior gear mounting hole. Attach spring fo secior gear.




Ot

L-SHAPED END

REAR LIMIT
CAM

SECTOR GEAR

SPRING

TILT

CABLE

TO REINSTALL:

1. Siide rear limit aligning marks on sector
goer nd e i cam, Socro W 64

13z:llﬂhmdhmumhuhﬂphhiﬂnnﬂddﬁmﬁm

TILT CONTROL-
COVER SCREWS

TILT CONTRGL
COVER

TILT CONTROL

/D HOUSING SCREW

{ISOLATE)
SWING ARM

TILT CONTROL
HOUSING

R
N
(FIGURE SHOWM WITH '-

FRAME AND BACK REMOVED)

TO REMOVE: (FOR CHAIRS MANUFACTURED
BEFORE 8-23-04)

1. Using #2 head scredreiver, remove and set aside screw
it 0 swing amm. this screw lsolated from all other
hardware while undergoing this procedure. Remove and set aside

Ena::::a:ﬁfmﬂdumlhlhutdhnﬁnﬂu

TO REINSTALL:

1. Using #2 phillips head screwdriver, sacure filt control cover on filt
conirol housing with (2) screws.

2. Using #2 phillips head screwdriver, secure it control to swing arm
with screw.
184790 REV D



FAD TILT
LIMITER
CABLE

CABLE END

TILT LIMITER
LEVER SLOT

TILT CONTROL
HOUSING

TILT LIMITER LEVER

TILT LIMITER KNOB

TO REMOVE: (FOR CHAIRS MANUFACTURED
BEFORE B8-23-04)

1. Remove and set aside pad and from tit Bmiter lever.
Remove filt limiter cable from it lever.

TO REINSTALL: (FOR CHAIRS MANUFAﬂTURED1

BEFORE 8-23-04)

SECTOR GEAR
W/MOUNTING HOLE
(OLD VERSION)

SECTOR GEAR
W/MOUNTING POST
(NEW VERSION)

TO REINSTALL:

- Select appropriate secior gear, one that pivots on post of it (older
version) or oné with intrgrel pivoling post thal inserts in it (newer

1. Siide replacement il imiter cablo coupling Info siot in Rt bmiterlever,  Version.

Insert spring over cable info cavity of lever. Place pad over spring.

2. insert L-shaped end of replacement tit limiter cable into keyhole siot



